Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 13 - Westhill and District

5,996

4

1,200

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David AITCHISON	Scottish National Party (SNP)	877
Heather COULL	Scottish National Party (SNP)	557
Lindsey KIRKHILL	Scottish Labour Party	266
Ron MCKAIL	Scottish Conservative and Unionist	2,019
Alistair MCKELVIE	Scottish Conservative and Unionist	828
Derek SCOTT	Scottish Libertarian Party	79
Iris WALKER	Scottish Liberal Democrats	1,370
	Total	5,996

Candidate Ron MCKAIL Elected with 2,019 votes, being in excess of the quota of 1,200 Candidate Iris WALKER Elected with 1,370 votes, being in excess of the quota of 1,200

Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Ron MCKAIL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David AITCHISON	19	0.40564	7.70716
Transfer to Heather COULL	10	0.40564	4.05640
Transfer to Lindsey KIRKHILL	33	0.40564	13.38612
Transfer to Ron MCKAIL	0	0.00000	0.00000
Transfer to Alistair MCKELVIE	1,815	0.40564	736.23660
Transfer to Derek SCOTT	11	0.40564	4.46204
Transfer to Iris WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			53.15168
	Total		819.00000

This report contains the transfers results.

Stage 3 - Surplus of Alistair MCKELVIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David AITCHISON	41	0.09445	3.87245
Transfer to David AITCHISON	23	0.23285	5.35555
Transfer to Heather COULL	26	0.09445	2.45570
Transfer to Heather COULL	19	0.23285	4.42415
Transfer to Lindsey KIRKHILL	291	0.09445	27.48495
Transfer to Lindsey KIRKHILL	106	0.23285	24.68210
Transfer to Ron MCKAIL	0	0.00000	0.00000
Transfer to Alistair MCKELVIE	0	0.00000	0.00000
Transfer to Derek SCOTT	155	0.09445	14.63975
Transfer to Derek SCOTT	71	0.23285	16.53235
Transfer to Iris WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			264.78960
	Total		364.23660

Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Iris WALKER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David AITCHISON	153	0.12408	18.98424
Transfer to Heather COULL	130	0.12408	16.13040
Transfer to Lindsey KIRKHILL	374	0.12408	46.40592
Transfer to Ron MCKAIL	0	0.00000	0.00000
Transfer to Alistair MCKELVIE	0	0.00000	0.00000
Transfer to Derek SCOTT	98	0.12408	12.15984
Transfer to Iris WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			76.31960
	Total		170.00000

This report contains the transfers results.

Stage 5 - Exclusion of Derek SCOTT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David AITCHISON	3	0.09445	0.28335
Transfer to David AITCHISON	4	0.12408	0.49632
Transfer to David AITCHISON	1	0.23285	0.23285
Transfer to David AITCHISON	8	1.00000	8.00000
Transfer to Heather COULL	2	0.09445	0.18890
Transfer to Heather COULL	3	0.12408	0.37224
Transfer to Heather COULL	2	0.23285	0.46570
Transfer to Heather COULL	8	1.00000	8.00000
Transfer to Lindsey KIRKHILL	74	0.09445	6.98930
Transfer to Lindsey KIRKHILL	49	0.12408	6.07992
Transfer to Lindsey KIRKHILL	30	0.23285	6.98550
Transfer to Lindsey KIRKHILL	5	0.40564	2.02820
Transfer to Lindsey KIRKHILL	22	1.00000	22.00000
Transfer to Ron MCKAIL	0	0.00000	0.00000
Transfer to Alistair MCKELVIE	0	0.00000	0.00000
Transfer to Iris WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			64.67170
	Total		126.79398

This report contains the transfers results.

Stage 6 - Exclusion of Lindsey KIRKHILL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David AITCHISON	50	0.09445	4.72250
Transfer to David AITCHISON	54	0.12408	6.70032
Transfer to David AITCHISON	17	0.23285	3.95845
Transfer to David AITCHISON	7	0.40564	2.83948
Transfer to David AITCHISON	47	1.00000	47.00000
Transfer to Heather COULL	86	0.09445	8.12270
Transfer to Heather COULL	88	0.12408	10.91904
Transfer to Heather COULL	40	0.23285	9.31400
Transfer to Heather COULL	7	0.40564	2.83948
Transfer to Heather COULL	65	1.00000	65.00000
Transfer to Ron MCKAIL	0	0.00000	0.00000
Transfer to Alistair MCKELVIE	0	0.00000	0.00000
Transfer to Derek SCOTT	0	0.00000	0.00000
Transfer to Iris WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			260.62604
	Total		422.04201

This report contains the transfers results.

Stage 7 - Exclusion of Heather COULL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David AITCHISON	99	0.09445	9.35055
Transfer to David AITCHISON	162	0.12408	20.10096
Transfer to David AITCHISON	48	0.23285	11.17680
Transfer to David AITCHISON	12	0.40564	4.86768
Transfer to David AITCHISON	571	1.00000	571.00000
Transfer to Lindsey KIRKHILL	0	0.00000	0.00000
Transfer to Ron MCKAIL	0	0.00000	0.00000
Transfer to Alistair MCKELVIE	0	0.00000	0.00000
Transfer to Derek SCOTT	0	0.00000	0.00000
Transfer to Iris WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			72.79272
	Total		689.28871